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Q1. The governments of Albania, Burkina Faso, India, Montenegro, and Uganda have recently joined 

for a new initiative, led by UN Environment Programme aims to: 

a. To combat desertification and restore degraded lands 

b. to reduce the burden of AMR on societies and tackle the triple planetary crisis: the crisis of 

climate change, the crisis of nature and biodiversity loss, and the crisis of pollution and 

waste. 

c. Phasing out mercury measuring devices in healthcare 

d. to address equity, sustainability, and human rights across value chains of critical energy 

transition minerals 

Solution: c 

Explanation: 

Taken from UNEP site: 

We will majorly focus on questions, jo chupe ke baithe h. Use dhundne main waqt kaafi lgega aur 

wo aapke paas ni h.. So we are doing this work for you. Aap bus yhan ache se practice kijye.. 

News: 

 

Led by the United Nations Environment Programme (UNEP), with funding from the Global 

Environment Facility (GEF) and executed by the World Health Organization (WHO), the Phasing out 

mercury measuring devices in healthcare project will develop and implement nation-wide strategies 

to stop the import, export and manufacture of thermometers and sphygmomanometers, encourage 

the adoption of accurate, affordable and safe mercury-free alternatives, while improving the 

management of mercury-containing medical waste. 

Q2. Among the following countries India maintains trade surplus with: 

1. Iraq 

2. UAE 

3. Saudi Arabia 

4. Iran 

Select the correct code. 

a. 1 and 2 only 

b. 1, 2 and 3 only 

c. 2 and 3 only 

d. 1, 2, 3 and 4 

Solution: b 
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Explanation: 

Look at four below images from Ministry of Commerce site. Authentic information is must to read 

anything with confidence. 
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Q3. According to IMD the favourable conditions for Heatwaves are:  

1. Transportation / Prevalence of hot dry air over a region (There should be a region of warm 

dry air and appropriate flow pattern for transporting hot air over the region). 

2. Absence of moisture in the upper atmosphere (As the presence of moisture restricts the 

temperature rise). 

3. The sky should be practically cloudless (To allow maximum insulation over the region). 

4. Large amplitude anti-cyclonic flow over the area. 

How many of the above conditions is/are correct? 

a. Only one 

b. Only two 

c. Only three 

d. All four 

Solution: d 

Explanation: 

Yaad kr lo: 

From the IMD website: 

Q4. Consider the following statements. 

1. India is the world’s largest producer of castor seeds. 

2. Gujarat leading the production of castor seeds in the country. 

3. There is no MSP for castor seeds production. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 
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c. All three 

d. None 

Solution: c 

Explanation: 

Read: 

 

There is no MSP for castor. 

Q5. If you draw a vertical straight line at any point on Caspian Sea on world map, it will always cross: 

a. Kazakhstan 

b. Iran 

c. Saudi Arabia 

d. Turkmenistan 

Solution: b 

Explanation: 

Draw krke check kro. I am asking you such small questions so that dimag main map print ho jaaye. I 

don’t want that you do mistakes in map. 
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Q6. Consider the following statements REGARDING Forest Rights Act (FRA), 2006. 

1. FRA is not applicable to Municipal Areas. 

2. FRA is also applicable to National Parks, Wildlife Sanctuaries and Tiger Reserves. 

3. A provision of conversion of forest villages to revenue villages has been mentioned under 

this Act. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

First statement is incorrect. 
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Second statement is correct: 

 

Third statement is correct: 

There is a provision for conversion of forest villages to revenue villages in 2019, as stipulated 

under the provisions of the Forest Rights Act, 2006. Forest villages were villages set up by the 

British Indian government to settle workers inside forests and procure resources like timber more 

efficiently. There are around 2,500 forest villages across the country.   

 

Q7. Consider the following statements. 

1. CBI to obtain the consent of the state government before conducting investigation in a 

particular state thereby limiting its jurisdiction. 

2. CBI is a statutory body. 

3. Prime Minister, Speaker of Lok Sabha and CJI are the members of appointment committee 

to appoint a director of CBI. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: A 

Explanation: 
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Section 6 of the Delhi Special Police Establishment Act 1946 requires the CBI to obtain the consent 

of the state government before conducting investigation in a particular state thereby limiting its 

jurisdiction. 

 

What is the concept of “General Consent”? 

In case of 'general consent' the CBI does not have to obtain the prior permission of the state 

government before investigation. When a state withdraws general consent, CBI officers lose the 

powers to conduct investigation in the concerned state. In order to register a new case, the agency 

has to seek specific consent from the State government. As a result, it stalls registration of new 

cases. And over the years, general consent has been used as a tool of political rivalry between the 

centre and state. 

Second Statements is incorrect: 

Origins of CBI can be traced back to the Special Police Establishment (SPE) set up in 1941 in order to 

cases of bribery and corruption in War & Supply Department of India during World War II. 

The need of a Central Government agency to investigate cases of bribery and corruption was felt 

even after the end of World War II. So, DSPE (Delhi Special Police Establishment) Act, 1946 was 

brought that gave legal power of investigating cases to CBI. 

CBI is not a statutory body as it is not established by an Act of the Parliament. 

Third Statement is incorrect: 

Members are: 

a. Prime Minister of India 

b. Leader of Opposition 

c. CJI. 

 

Q8. How many of the following statements about Preamble is incorrect? 

1. The Preamble sets out the ideals of identifying the nature of the State of the Constitution. 

2. In Berubari Union and Exchange of Enclaves, the Court ruled that the Preamble is not a part 

of the Constitution. 

3. The word 'Secular' inscribed in Preamble after 42nd Constitutional Amendment means that 

the State will be anti-religious or an atheistic State. 

4. Preamble can be amended under Article 368 of the Constitution. 

Select the correct code. 

a. Only one 

b. Only two 

c. Only three 

d. None 
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Solution: a 

Explanation: 

First statement is correct. 

The Preamble to our Constitution (in brief, 'Preamble') is more than just 63 words perfectly 

arranged and catalogued (in a certain way) in some normative sentences; most importantly, it is all 

about the democratic aspirations and ideals of the people of India (I. C. Golaknath & Ors vs State of 

Punjab & Anrs. 1967 SCR ). 

It encapsules the characteristics of the aspirations of the people and sets out the ideals of 

identifying the nature of the State of the Constitution intends to have and further epitomizes the 

fundamental philosophy of an egalitarian society and a progressive nation. The words of the 

Preamble are simultaneously metaphysical and practical and lay down the objectives upon which the 

foundation of this country was laid. 

Second Statement is correct. 

In 1960, in Re: Berubari Union and Exchange of Enclaves, the Court ruled that the Preamble is not a 

part of the Constitution. When the Court said that the Preamble is not a part of the Constitution, 

they stated that it is the key to open the mind of the Constitution makers meant for general purpose 

and does not confer anything else. 

However, in the case of Kesavananda Bharti v. State of Kerala, the Supreme Court rightly rejected 

this idea and held that the Preamble is very much a part of the Constitution. This Judgment implies 

that through the route of Article 368 of the Constitution, the Parliament can amend the Preamble. 

However, in the same case, it was further propounded that through the route of Article 368, the 

basic structure of the Constitution cannot be altered. Fourth statement is correct. 

As of now, the preamble is only amended once through the 42nd Amendment Act, 1976. 

The term ‘Socialist’, ‘Secular’, and ‘Integrity’ were added to the preamble through 42nd 

Amendment Act, 1976. 

‘Socialist’ and ‘Secular’ were added between ‘Sovereign’ and ‘Democratic’. 

‘Unity of the Nation’ was changed to ‘Unity and Integrity of the Nation’. 
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Third statement is wrong. 

The term 'Secular' is not defined anywhere in the Constitution of India. The word 'Secular' does not 

mean that the State will be anti-religious or an atheistic State. It means that the State has no 

religion.  

In S.R. Bommai case, it has been ruled:" the concept of Secularism was very much embedded in our 

Constitutional philosophy. The term 'Secular' is not defined as it is a very elastic term not capable of 

precise definition and perhaps best left undefined." 

Q9. Which of the following correctly defines the term Social Forestry? 

a. land-use systems and technologies where woody perennials (trees, shrubs, palms, bamboos, 

etc.) are deliberately used on the same land-management units as agricultural crops and/or 

animals 

b. Forestry outside the conventional forests which primarily aim at providing continuous flow 

of goods and services for the benefit of people 

c. It is an applied science that studies ecological processes applied to agricultural production 

systems. 

d. It is the science and technology of producing and using plants in agriculture for food, fuel, 

fiber, and land restoration. 

Solution: b 

Explanation: 
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Q10. Consider the following statements regarding Pandrethan temple. 

1. The temple is dedicated to Lord Shiva. 

2. It is situated near the river Jhelum in Kashmir region. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

The temple is dedicated to Lord Shiva and is situated near the river Jhelum. 
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Q11. In reference to reservations in India, arrange the following into chronological order. 

1. 27 percent reservation for OBC in central government employment introduced based on the 

recommendation of Mandal Commission. 

2. An amendment inserted Article 15 (5) that provides reservation for OBC, SC, ST in central 

educational institutions. 

3. 10 percent category for Economically Weaker Section (EWS) in educational institutions. 

Select the correct code. 

a. 1-2-3 

b. 2-1-3 

c. 2-3-1 

d. 1-3-2 

Solution: b 

Explanation: 

Read the chronology: 
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Q12. Consider the following statements regarding practice of Carbon Farming? 

1. Some of the practices of the carbon farming includes agroforestry, crop rotation and cover 

cropping. 

2. Carbon Farming is challenging in hot and dry areas where availability of water is limited. 

3. Himalayan and coastal areas are less suited to adoption of carbon farming practice as 

compared to Indi-Gangetic Plains and Deccan Plateau. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

Abhi se seekho kaise padhna h Prelims ke liye. Last year I taught, jisne follow kiya, wo aaj acha 

perform kr rhe.  

See below. I have taken all explanation from the Hindu: 

First statement is correct: 
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Second statement is correct: 
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Third statement is correct: 
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Q13. Consider the following statements about direct seeding of rice (DSR): 

1. DSR uses less water per irrigation 

2. As compared to conventional transplanting, DSR is a labor-saving technology. 

3. CH4 emissions were higher in DSRas compared to conventional transplanted rice. 

How many of the statements given above are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: B 

Explanation: 

DSR refers to the process of establishing a rice crop from seeds sown in the field rather than by 

transplanting seedlings from the nursery.It has been recognized as the principal method of rice 

establishment since 1950's in developing countries. 

News: 
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Compared with conventional puddled transplanted rice (CT-PTR), DSR is a labor-saving technology. 

Example: 

 

Flooded rice culture with puddling and transplanting is considered one of the major sources of CH4 

emissions because of prolonged flooding resulting in lack of oxygen (anaerobic) soil conditions. 

DSR main low hota h. Jada detail main ni jaayee.. 

Ye table yaad kr lijye. 

 

Q14. Prime Minister Narendra Modi recently referred to the Uttaramerur inscription in 

Kanchipuram, Tamil Nadu, while discussing India’s democratic history. 

It provides details of: 

a. Water harvesting technique 

b. Arts and sculptures of wars 

c. Local self-governance 

d. Philosophies of Buddhism 

Solution: c 

Explanation: 
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Uttaramerur is located in the Kanchipuram district, about 90 kilometres southeast of Chennai. It is a 

small town with a population of around 25,000 according to the 2011 census. It is well-known for its 

historic temples constructed during the Pallava and Chola periods. 

The Uttaramerur inscription gives details of local self-governance. The inscription gives details of 

the functioning of the local Sabha, i.e. the village assembly. 

Q15. In reference India- Africa Trade, consider the following statements. 

1. Nigeria is the largest trading partner of India in the African region for the last three years. 

2. Total trade between India-Africa region is declining at rapid pace. 

Consider the following statements. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

Dono images ko dhyan se dekh le. Bilkul set ho jaana chahye aaj. 

Both are incorrect: 

 

 

On 15th MAY, 2024, NOTIFICATION FOR 2025 PRELIMS WILL BE RELEASED. If you are preparing for 

2025, 100 percent join and practice from scratch. I will teach you everything. 

Q16. India and Maldives are separated by which of the following channels? 

a. Seven Degree Channel 

b. Eight Degree Channel 

c. Nine Degree Channel 

d. Ten Degree Channel 
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Solution: b 

Explanation: b 

Explanation: 

Read: 

 

Q17. Why India Federations is called as “flexible Federation”? 

1. It can be both unitary as well as federal according to the requirements of time and 

circumstances. 

2. There is a provision of amendment to Constitution in Indian Constitution. 

3. Parliament to legislate on exclusively state subjects if such situation arrives. 

  How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

First statement is correct: 
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All federal systems including the American are placed in a tight mould of federalism. No matter what 

the circumstances, it cannot change its form and shape. It can never be unitary. On the other hand, 

the Indian Federation can be both unitary as well as federal according to the requirements of time 

and circumstances. In normal times, it is framed to work as a federal system. 

 

Second statement is correct: 

 

Third statement is correct: 

Parliament to legislate on exclusively provincial subjects in normal times. I refer to Articles 249, 250 

and 252.  

Under Article 249 Parliament can legislate when a subject becomes a matter of national concern as 

distinguished from purely Provincial concern, though the subject is in the State list, provided a 

solution is passed by the Upper Chamber by 2/3rd majority in favour of such exercise of the power 

by the Centre. Article 250 gives the similar power to Parliament in a national emergency. Under 

Article 252 Parliament can exercise the same power if states consent to such exercise. 

 

 

 

Q18. Consider the following statements. 

1. United States of America introduced a 'preamble' in its Constitution for the first time. 
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2. The ideals of 'liberty, equality and fraternity' in the preamble is inspired by Gandhian thoughts. 

3. Till date, preamble to the Constitution of India amended twice. 

How many of the above statements is/are correct? 

a. Only 1 

b. Only 2 

c. All three 

d. None 

Solution: a 

Explanation:  

First is correct statement. Second and third are incorrect. 

United States of America introduced a 'preamble' in its Constitution for the first time. 

The ideals of 'liberty, equality and fraternity' in the preamble is inspired by French Revolution. 

As of now, the preamble is only amended once through the 42nd Amendment Act, 1976. 

The term ‘Socialist’, ‘Secular’, and ‘Integrity’ were added to the preamble through 42nd Amendment 

Act, 1976. 

 

Q19. While deciding the repo rate, Monetary Policy Committee may keep in mind the following 

factors:  

1. Inflation  

2. Economic Growth  

3. Rupee appreciation/depreciation 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: A 

Explanation:  

Question has been taken from RBI’s interview. 
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Q20. Concerning Indian history, who among the following described as “Buddha of the Present”? 
 
      a.  Shakyamuni 
      b.  Rishabhdeva 
      c.  Maitreya 
      d.  Dipankara 
 
Solution: a 
 
Explanation: 
Read: 
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Q21. In reference to parliamentary elections, consider the following statements. 

1. As per the Act, a candidate can contest elections from any number of seats, but at a time, he 

or she can hold only one if elected in all seats. 

2. To contest in a Lok Sabha election, a candidate must be a voter in a state from which he or 

she is contesting election. 

3. If a person is convicted of an offence and he or she is out on bail after the conviction, he is 

disqualified from contesting an election. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation: 

Read below entire paragraph: 

First is incorrect: 
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Second statement is incorrect: 
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Third statement is correct: 

 

Q22. In reference to ‘Booth Capturing During Elections’. Consider the following statements. 

1. As per the Act, any person who is convicted of the offence of booth capturing shall be 

disqualified of membership to the Parliament. 

2. The time period for being disqualified for such above mentioned offence is determined by the 

President. 

3. As per the Act, if booth capturing takes place, EC can declare the poll void and appoint a day 

for fresh poll. 

How many of the above statements is/are correct? 
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a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

First and second are correct statements. 

As per sub-section (8) of this Section 123, booth capturing by a candidate, his agent or other 

person is a "corrupt practice". 

Under Section 8 of the RPA, any person who is convicted of the offence of booth capturing (under 

Section 135A) shall be disqualified of membership to the Parliament and State 

Assemblies/Councils, if he is sentenced to - 

(i) only fine, for a period of 6 years from the date of conviction; 

(ii) imprisonment, from the date of such conviction until expiry of a period of 6 years since his 

release. 

The question whether a person shall be disqualified upon being found guilty, and if so, for what 

period, is determined by the President. The President is bound to consult the EC in this regard and 

shall act based on the opinion received (Ref: Section 8A of RPA). 

 

Third statement is also correct: 
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Q23. Consider The following statements about Integrated full electronic Propulsion System in India. 

1. Recently, Indian and the UK government are discussing regarding collaboration on the 

development of an electric propulsion system in India. 

2. At present, Indian warships do not have electric propulsion systems. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

News: 

 

Recently, discussions have been underway between the Indian government and the UK 

government regarding a potential agreement to collaborate on the development of an electric 

propulsion system in India. 

At present, Indian warships do not have electric propulsion systems. They are currently powered 

by diesel engines, and gas or steam turbines. 

Q24. Consider the following pairs (places in news: location). 

1. Bahia state (in news due to deforestation, land grabbing and human rights violations): Brazil 

2. Mafia Island (Cyclone Hidaya makes landfall): Indonesia 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 
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Q25. In reference to United Nations Trust Fund for Counter-Terrorism, consider the following 

statements. 

1. The Fund accepts contributions from Governments, inter-governmental and non-governmental 

organizations, private institutions, and individuals. 

2. The fund is managed by United Nations Office of Counter-Terrorism (UNOCT). 

3. Qatar and Saudi Arabia are the largest contributors to United Nations Office of Counter-

Terrorism (UNOCT) in 2023. 
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How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

News: 

Recently, India contributed $5,00,000 to UN Counter-Terrorism Trust Fund, reaffirming 

unwavering commitment to global fight against terrorism. 

 

The Fund was established in 2009 by the Secretary-General and transferred to United Nations 

Office of Counter-Terrorism (UNOCT)when it was created in 2017 following General Assembly 

resolution 71/291PDF. The Fund accepts contributions from Governments, inter-governmental and 

non-governmental organizations, private institutions, and individuals. 

 

 



QUIZ COMPILATIONS - MAY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 29 

 

Q26. Consider the following statements regarding Spice Board of India. 

1. It is not a statutory body. 

2. Currently, only 12 spices are listed under the purview of the Board. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

The below information is taken from Ministry of Commerce annual report 2022-23. So you can 100 

learn with confident. 

Both statements are incorrect. 

Spices Board, the statutory organization constituted on 26th February 1987, under the Spices 

Board Act 1986 with the merger of the erstwhile Cardamom Board and Spices Export Promotion 

Council under the Ministry of Commerce & Industry. 
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Q27. In the context Preamble of India, arrange the following in chronological order of their 

occurrence in Preamble. 

1. EQUALITY of status and of opportunity 

2. LIBERTY of thought, expression, belief, faith and worship 

3. FRATERNITY assuring the dignity of the individual and the unity and integrity of the Nation 

4. JUSTICE, social, economic and political 

Select the correct code. 

a. 4-1-2-3 

b. 1-4-2-3 

c. 2-1-4-3 
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d. 4-2-1-3 

Solution: d 

Explanation: 

Start the test just to check if you know Preamble or not. 

 

Q28. Ladakh shares boundary with: 

1. Pakistan 

2. Afghanistan 

3. China 

4. Turkmenistan 

Select the correct code. 

a. 1 and 2 only 

b. 1 and 3 only 

c. 1, 2 and 3 only 

d. 2, 3 and 4 only 

Solution: c 

Explanation: 

Ladakh shares boundary with Pakistan, China and Afghanistan. 
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Q29. Which of the following officer has the power to disqualify a Member of the Legislature for 

occupying an ‘Office of Profit’? 

a. The Chief Election Commissioner 

b. The President 

c. The Speaker of the Lok Sabha 

d. The Leader of the House concerned whose member is to be disqualified 

Solution: b 

Explanation: 

Article 102(1)(a) of the Constitution of India recognizes “holding any Office of Profit under the 

government” a ground for disqualification from being a Member of Parliament (MP) as well as 

contesting parliamentary elections to be chosen as an MP.  
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Q30. Which of the following aspects can lead to appreciation in the exchange rate of the Rupee? 

1. Increase in foreign tourists coming to India.  

2. Indian citizens investing abroad.  

3. A decrease in crude oil prices.  

4. Increase in exports by Indian pharmaceutical companies.  

Select the correct answer using the code given below:  

a. 1 and 2 only  

b. 1, 3 and 4 only  

c. 2 and 4 only  

d. 1 and 3 only  

Solution: b 

Explanation:  

Increase in foreign tourists coming to India would increase the demand for Rupee. This would lead 

to an appreciation in the rupee value. So, Statement (1) is correct.  

Indian citizens investing abroad would demand foreign currency in exchange for Rupee. This would 

lead to the price of the foreign currency increasing relative to the rupee, leading to a depreciation 

in the value of the rupee. So, Statement (2) is not correct.  

A decrease in crude oil prices would reduce the import bill of India as India imports about 70 per 

cent of its crude requirements. This would reduce the demand for foreign currency, which in turn 

would lead to an increase in the value of the rupee. So, Statement (3) is correct.  

Increase in exports by Indian pharmaceutical companies would bring foreign exchange in India. The 

price of foreign currency would reduce in terms of the rupee. This would lead to a depreciation in 

the value of the foreign currency and an appreciation in the value of the rupee. So, Statement (4) is 

correct.  
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Q31. In reference to National Lok Adalat, consider the following statements. 

1. National Level Lok Adalats are held in all the courts right from the Supreme Court till the 

Taluk Levels. 

2. Presently, National Lok Adalats are conducted every month throughout the country.  

3. The National Lok Adalats acrossthe country are organized as per the provisions of the Legal 

Service Authority Act 1987.  

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

News: 

 

All information is taken from original document. No need to worry. 

National Level Lok Adalats are held for at regular intervals in all the courts right from the Supreme 

Court till the Taluk Levels wherein cases are disposed of in huge numbers. 
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Q32. In reference to ‘appointment of additional judges in the High Court’, consider the following 

statements. 

1. No person appointed as an additional Judge of a High Court shall hold office after attaining 

the age of sixty-two years. 

2. The President can appoint additional judges of a high court for a temporary period not 

exceeding two years. 

3. Additional judge is appointed by the Chief Justice of High Court. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

Additional Judges can be appointed by the President under clause (1) of Article 224 of the 

Constitution. 
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The President can appoint duly qualified persons as additional judges of a high court for a temporary 

period not exceeding two years when: 

• there is a temporary increase in the business of the high court; or 

• there are arrears of work in the high court. 

No person appointed as an additional or acting Judge of a High Court shall hold office after 

attaining the age of sixty-two years. 

 

Q33. In reference to Memory of the World (MOW) Programme, consider the following statements. 

1. It is a UNICEF’s initiative for preservation of the world's documentary heritage, particularly in 

areas affected by conflict and/or natural disaster. 

2. Recently, Ramcharitmanas included in the/Memory of the World Asia-Pacific Regional 

Register’. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

News: 

 

UNESCO launched the Memory of the World (MoW) Programme in 1992. 

 

The 20 successfully inscribed items to the Memory of the World Asia-Pacific Committee (MOWCAP) 

Regional Register for Asia-Pacific: We will see only India: 
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Q34. Consider the following statements with reference to Lok Sabha elections in India? 

1. From 1951 to 2019, India has held 17 Lok Sabha elections. 

2. The 2014 election was historic as it was the first time since 1951 that a party achieved an 

absolute majority. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Since 1951, India has held 17 Lok Sabha elections, mobilizing hundreds of millions of voters each 

time. Voter turnout has steadily increased over the years, peaking in 2019 at over 67 per cent – a 

marked rise from the 44 per cent voter turnout in 1951.  

Hence, statement 1 is correct.  

The 2014 election was historic as it was the first time since 1984 that a party achieved an absolute 

majority. The polls saw 66.4 per cent turnout.  

Hence, statement 2 is not correct. 

Q35. Saudi Arabia have coastlines on three bodies of water. Which body of water being longest? 

a.  Persian Gulf 

b. Red Sea 

c. Arabian Sea 

d. Gulf of Aqaba 

Solution: b 

Explanation: 
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Q36. What factors affect the Indian summer monsoon? 

1. Indian Ocean Dipole 

2. Equatorial Indian Ocean Oscillation 

3. Atlantic sea surface temperature variability 

4. Mascarene High 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

The Indian Ocean Dipole or IOD is caused by alternate warming and cooling in the Indian Ocean 

along the Equator from west to east, much like the ENSO.  
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The Equatorial Indian Ocean Oscillation (EQUINOO) is thought to arise as an effect of the IOD and 

refers to increased and decreased cloud formation between the western and eastern equatorial 

Indian Ocean.  

Although the IOD was discovered only in 1999, and the EQUINOO in 2002, both have been 

recognised as important modulators of the Indian summer monsoon. Positive IOD and EQUINOO 

events are associated with more rainfall as these events increase moisture transport from the 

southeastern parts of the Indian Ocean. 

The Atlantic SST variability affects the Indian summer monsoon in the same way that the ENSO 

does. A warming of the surface of the Atlantic Ocean weakens the monsoon, just as cooling of the 

ocean’s surface has the opposite effect. The effects of this phenomenon, also known as the Atlantic 

Niño, on the Indian summer monsoon, is thought to be mediated through perturbations in the jet 

streams above India. 

The Mascarene High is a semi-permanent high-pressure zone in the south Indian Ocean, about 

4,000 km from India, near the Mascarene Islands. The Mascarene High begins developing in mid-

April and is a major factor in driving the circulation between the northern and southern hemispheres 

that powers the summer monsoon winds towards the Indian subcontinent from the Indian Ocean. 
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Q37. Consider the following statements regarding  

1. The reports of the Comptroller and Auditor General of India relating to the accounts of the 

Indian states shall be submitted to the Governor. 

2. As per the Constitution, CAG is also responsible for the audit and accounts of Panchayats 

and Municipalities. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

The reports of the Comptroller and Auditor General of India relating to the accounts of the Union 

shall be submitted to the President, who shall cause them to be laid before each House of 

Parliament. 

 

The Legislature of a State may, by law, make provisions with respect to the maintenance of 

accounts by the Panchayats and the auditing of such accounts. 

 

Q38. Which of the following is/are the agencies of United Nations? 

a. The International Fund for Agricultural Development, 

b. World Intellectual Property Organization 

c. International Monetary Fund 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 
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The UN specialized agencies are autonomous international organizations working with the United 

Nations. 
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Q39. Consider the following statements regarding Biomining. 

1. It is the process of using microorganisms (microbes) to extract metals of economic interest 

from rock ores or mine waste. 

2. The use of this technique is limited to metals which can be oxidized by the microbes.  

3. This technique is not suitable for metals like iron and copper, which are dissolved easily in 

water, for such minerals other techniques are used. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 1 and 3 only 

c. 1 only 

d. 2 and 3 only 

Solution: c 

Explanation: 

News is: 

Biomining is the process of using microorganisms (microbes) to extract metals of economic interest 

from rock ores or mine waste. Biomining techniques may also be used to clean up sites that have 

been polluted with metals. 
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Q40. Consider the following statements. 

1. The G20 is an international group initially founded in 1999 after the Asian financial crisis. 

2. G-7 was formed after G-20. 

3. All members of G-7 are part of G-20. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

Which of the above statement sis/are correct? 

The G20 is an international group initially founded in 1999 after the Asian financial crisis as a 

forum for the finance ministers and central bank governors of 19 countries and the European Union. 

G-7 was formed in 1975. Second statement is correct. 

G-7 members: United States, the United Kingdom, Germany, Canada, Japan, France and Italy. 

G:20 members: Argentina, Australia, Brazil, Canada, China, France, Germany, India, Indonesia, 

Italy,Japan, Republic of Korea, Mexico, Russia, Saudi Arabia, South Africa, Turkey, the United 

Kingdom, the United States, and the European Union. 

Q41. In reference to ‘Paris Principles’ (Relating to the Status of National Human Rights Institutions) 

consider the following statements. 

1. The above-mentioned Paris Principles led to the formation of Global Alliance of National 

Human Rights Institutions (GANHRI)for the protection of human rights. 
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2. Today, the UN strongly encourages all States to establish or strengthen an NHRI in 

compliance with the Paris Principles. 

3. India is a member of GANHRI. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

News: 

 

 

When National Human Rights Institutions (NHRIs) met in Tunis for their second international 

workshop, they decided to establish the Global Alliance of National Human Rights Institutions 

(GANHRI). 

Since then, the UN General Assembly has adopted numerous resolutions calling for the 

strengthening of NHRIs. 

Today, the UN strongly encourages all States to establish or strengthen an NHRI in compliance 

with the Paris Principles. These calls are found in resolutions of the Human Rights Council and the 

General Assembly, in recommendations of the Universal Periodic Review and the treaty monitoring 

bodies, and in the reports of the special procedures. 

As of December 2023, GANHRI is composed of 120 members: 

India is a member. 
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Q42. The year 2024 commemorates 50 years since the launch of the Expanded Programme on 

Immunization (EPI).  

Consider the following statements. 

1. The Expanded Programme on Immunization (EPI), an initiative launched by the World Health 

Organization. 

2. Presently, EPI programme only focuses on protecting children against small pox and 

tuberculosis. 

Which of the above statemnts is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Read: 

 

At its inception, EPI focused on protecting all children against six childhood illnesses, including 

tuberculosis, diphtheria, tetanus, pertussis, polio, and measles. Today, today, this number has 

grown to 13 universally recommended vaccines across the life course, and 17 additional vaccines 

with context dependent recommendations. 
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Q43. Consider the following statements regarding Niligiri Tahr. 

1. Nilgiri Tahr is endemic to the Western Ghats mountains in south India. 

2. It is listed as an endangered species by the IUCN and protected under Schedule-I of the 

Wildlife (Protection) Act, 1972. 

3. Niligiri Tahr is the state animal of Tamil Nadu. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

News: 

 

All statements are correct. Remember.  

Q44. Consider the following statements. 

1. The term ‘microplastics’ refers to plastic particles that are no larger than 5 millimeters. 

2. Common additives released from microplastics include heavy metals, bisphenol Aand per-and 

polyfluoroalkyl substances. 

3. As per the report, in 2024, India will be the second country after China that pollutes waterways 

the most due to microplastics and chemical additives. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

According to Plastic Overshoot Day (POD) Report: 
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Q45. With respect to National Tiger Conservation Authority (NTCA), consider the following 

statements. 

1. It has been constituted under Environment Protection Act, 1986. 

2. Prime minister is the chairperson of the Authority. 

3. It ensures that the tiger reserves are not diverted for ecologically unsustainable uses. 

Which of the above statements is/are correct? 

a. 2 and 3 only 

b. 3 only 

c. 1 and 3 only 

d. 1 only 

Solution: b 

Explanation: 

First and second statements are incorrect. 

The National Tiger Conservation Authority (NTCA) has been constituted under section 38 L (1) of 

Wildlife (Protection) Act, 1972.  

Further, as per the section 38 L, sub section 2 of the said Act, the authority consists of the Minister in 

charge of the Ministry of Environment and Forests (as Chairperson), the Minister of State in the 

Ministry of Environment and Forests (as Vice-Chairperson), three members of Parliament, Secretary, 

Ministry of Environment and Forests and other members. 

Powers and functions of the National Tiger Conservation Authority as prescribed under section 38O 

(1) and (2) of the Wildlife (Protection) Act, 1972, as amended in 2006. One of it says: 
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Q46. Right to fly the National Flag is a: 

a. Legal Right 

b. Fundamental Duty 

c. Fundamental Right under Article 21 

d. Fundamental Right under Article 19 

Solution: d 

Explanation: 

Read: 

 

If you have marked Fundamental Duty, please look into the chapter what FD says about Indian 

flag: 
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Q47. As per the Constitution, ‘Unsound mind’ is one the way for the disqualification from 

membership of which of the following? 

1. Member of Legislative Council. 

2. Finance Commission 

3. Member of Parliament 

4. A Judge of the Supreme Court 

Select the correct code. 

a. 1 and 3 only 

b. 1, 2 and 3 only 

c. 1, 3 and 4 only 

d. 3 only 

Solution: a 

Explanation: 
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Finance Commission:  

The term ‘unsound mind’ is mentioned not in Constitution, but Finance Commission 

(Miscellaneous Provisions) Act, 1951. 

 

For SC judge, the criteria is not “unsound mind”. 

 

Q48. Which one of the following is NOT the most likely measure the Government/RBI takes to 

control rupee weakening?  

A. Increasing tariffs on imported goods and promoting exports 

B. Easing Foreign Direct Investment Rules 

C. Increase in the issue of rupee dominated Masala Bonds 

D. Following an expansionary monetary policy 

Solution: d 

Explanation: 

Rupee depreciation means that Indian rupee is losing its value against foreign currencies. In simple 

terms, you will remember:  

Rupee depreciates when more rupee in market compared to dollar. More rupee in market means, 

its value will decrease. So, to prevent depreciation, we have to keep dollars in our economy. 

Now back to question. 

First statement is correct. It will reduce CAD. Less dollar will now go outside. 

Second statement is correct. 

The FDIs are driven in the form of purchase of government bonds and corporate bonds. Foreign 

investors buy these bonds by shelling out foreign currency. Thus, the value of the foreign currency 

with respect to the Indian Rupee drops as the demand for Indian rupee has increased against the 

Dollar. This increase in demand for INR causes the rupee to appreciate against the Dollar. 

Thus, FDIs certainly help any country (India is no exception) to appreciate its currency. 

Third statement is correct. 

It will help by reducing the demand of dollars in loan-repayment.  
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Fourth statement is wrong. 

because rupee currency supply will increase without corresponding increase in the supply of 

dollars and as a result: dollar will strengthen, Indian Rupee will weaken further. So D is the 

answer. 

Q49. Which of the following is/are the goals of the convention on Biological Diversity? 

1. Conservation of biological diversity 

2. Sustainable use of its components 

3. Fair and equitable sharing of benefits arising from genetic resources 

4. Conservation of the natural resources 

Select the correct answer using code given below. 

a. 1, 2 and 3 only 

b. 1, 2 and 4 only 

c. 2, 3 and 4 

d. 1, 2, 3 and 4 

Solution: a 

Explanation: 

The Convention on Biological Diversity (CBD), known informally as the Biodiversity Convention, is a 

multilateral treaty. The Convention has three main goals: 

a. conservation of biological diversity (or biodiversity); 

b. sustainable use of its components; and 

c. fair and equitable sharing of benefits arising from genetic resources 

In other words, its objective is to develop national strategies for the conservation and sustainable 

use of biological diversity. It is often seen as the key document regarding sustainable development. 

The Convention was opened for signature at the Earth Summit in Rio de Janeiro on 5 June 1992 

and entered into force on 29 December 1993. 

Q50. Considering between Equator and Tropic of Cancer, which of the following places is nearest to 

the Tropic of Cancer? 

a. Jaipur 

b. Agartala 

c. Kolkata 

d. Raipur 

Solution: c 

Explanations: 
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Similar question has been already asked in our previous Quizzes. You can easily eliminate Agartala 

and Jaipur as they lie above Tropic of Cancer. 

Between Kolkata and Raipur, you can easily predict right answer if you remember the map of India. 

Right answer is Kolkata. 

 

Q51. In reference to Bacterial Priority Pathogens List (BPPL), consider the following statements. 

1. Bacterial Priority Pathogens List (BPPL) 2024 is the first such edition developed by World 

Health Organization. 

2. Since its launch, the BPPL has been used to analyse antibacterials, and the results have been 

published in annual WHO reports. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: B 

Explanation:  

News: 

 

About Bacterial Pathogens Priority List: 

It is an important tool in the global fight against antimicrobial resistance. 
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Background 

a. In 2017, WHO developed the first BPPL to guide investment into the R&D of new antibacterials 

and it listed 13 bacterial pathogens (phenotypes). 

b. It was developed with the multi-criteria decision analysis (MCDA) method (15). 

c. MCDA is a decision-making scientific method that mounts and evaluates alternatives based on 

multiple criteria, facilitating systematic and transparent decision-making in complex options. 

The 2024 WHO BPPL covers 24 pathogens, spanning 15 families of antibiotic-resistant bacterial 

pathogens.  

The 2024 list categorizes these pathogens into critical, high, and medium priority groups to inform 

research and development (R&D) and public health interventions. 

In 2017, WHO developed the first BPPL to guide investment into the R&D of new antibacterials. 

Q52. Consider the following statements. 

1. All registered political parties are either national party or state party. 

2. Registered political parties enjoy the tax exemption over donations received under Income 

Tax Act 1961. 

3. As per the Act, if any registered political party fails to conduct elections for 3 consecutive 

years, ECI is empowered to de-list the party. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

All statements are taken from the Article: 

Third statement is incorrect: 
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First is incorrect: 

Registered Unrecognized Political Parties (RUPP): 

Either newly registered parties or those which have not secured enough percentage of votes in the 

assembly or general elections to become a state party, or those which have never contested 

elections since being registered are considered unrecognized parties. 

Such parties don’t enjoy all the benefits extended to the recognised parties. 

Recognised Political Party: 

A recognised political party shall either be a National party or a State party if it meets certain laid 

down conditions. 
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Q53. Consider the following statements. 

1. Tamil Nadu is the largest producer of lignite in the country. 

2. Coal contributes nearly 50 percent of the total installed power generation in India. 

3. Nuclear power generation contributes less than 2 percent in India. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

All statements are correct. 

Look at the latest data: 
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First statement is correct: 
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Q54. If Malacca strait is blocked, which of the alternative straits will be available for vessel carrying 

goods from Africa to reach Japan? 

1. Through Sunda Strait 

2. Through Lombok Strait 

3. Through Taiwan Strait 

Select the correct code. 

a. 1 and 3 only 

b. 2 only 

c. 1 and 3 only 

d. 1 and 2 only 

Solution: d 

Explanation: 

If the Strait of Malacca were blocked, nearly half of the world's shipping fleet would be required to 

reroute around the Indonesian archipelago, such as through the Lombok Strait between the 

Indonesian islands of Bali and Lombok or through the Sunda Strait between the Indonesian islands 

of Java and Sumatra. 
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Vessel can skip Taiwan strait. 

 

Q55. With reference to the funds under Members of Parliament Local Area Development Scheme 

(MPLADS), which of the following statements are correct? 

1. MPLAD Scheme was announced during priministership of Rajiv Gandhi. 

2. District Authority shall mandatorily maintain inspection registers for works carried out for 

trusts and societies. 

3. MPLADS funds can be used for rehabilitation and reconstruction works in areas affected by 

natural “calamity of severe nature” declared by the Government of India. 



QUIZ COMPILATIONS - MAY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 60 

 

How many of the above statements is/are incorrect? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation: 

First statement is incorrect: 

 

Initially the administration of MPLADS was with the Ministry of Rural Development. However, 

since October 1994, the administration of the Scheme has been vested with the Ministry of 

Statistics and Programme Implementation. 

Second statement is correct: 

Role of District Authority: 

4.5.2 has already been asked in UPSC Prelims 2020 exam. Here I have asked 4.5.5. 

 

Third statement is correct: 
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Q56. How many of the following statements is correct regarding Agroforestry? 

1. India had adopted the National Agroforestry Policy in 2014. 

2. Some of the frequently grown tree species in agroforestry are neem, teak, eucalyptus, 

poplar, bamboo, amla, etc. 

3. The atmospheric carbon fixation of agroforestry is more than 10 times than fixation by 

cropping systems such as rice-wheat. 

Select the correct code. 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

First and second are correct: 

India had adopted the National Agroforestry Policy in 2014. It defined agroforestry as a land-use 

system which integrates trees and shrubs on farmlands and rural landscapes to enhance 

productivity, profitability, diversity and ecosystem sustainability. With an appropriate mix of species, 

agroforestry enables agricultural land to withstand extreme weather events such as floods and 

droughts and enhance farmers’ income.  
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The National Forest Policy (1988) was aimed at forest coverage of 33 per cent of the total 

geographical area; as of now, only around 22 per cent of the area is under forest cover. There is 

little scope for increasing the area under forests; hence, that gap can be filled by expanding the 

area under agroforestry. 

Some of the frequently grown tree species in agroforestry are neem, teak, eucalyptus, poplar, 

bamboo, amla, drumstick, banyan, peepal and acacia. These species are useful for medicinal 

purposes and repelling insects; they also provide timber and plywood. 

Third statement is correct: 

 

Q57. Consider the following statements regarding Finance Commission. 

1. Till now, 15 Finance Commissions has been appointed. 

2. The chairman of the Finance Commission shall be qualified to be appointed as Judges of a 

High Court. 

3. The tenure of Fianance Commission is specified as per the order of President, it is not fixed. 

How many of the above pairs is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 
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First statement is correct.  

 

Second statement is incorrect: 

 

Ok now this (1+4) is written where?? See below: 

 

Third is correct: As per Finance Commission (Miscellaneous Provisions) Act, 1951. 
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Q58. Consider the following statements regarding Deputy Chairman of India. 

1. Deputy Speaker finds itself mentioned in the second schedule of Indian Constitution. 

2. There is no Constitutional provision to remove Deputy Speaker from the office. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Second statement is also wrong. As you can see below, there is a provision mentioned to remove 

Deputy Speaker. 

Removal of Deputy Chairman: 

 

First statement is correct. 

 

 

Q59. With respect to Artemis Accord, consider the following statements. 
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1. Artemis Accords are a non-binding set of principles designed to guide civil space exploration. 

2. India is part of the Artemis Accord. 

3. Artemis Accords signatories are committed for proving information regarding their 

respective national space policies in accordance with their national rules and regulations. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

All three are correct statements. 
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Q60. Kalpasutra and Kalakacharya-Katha are two very important texts depicts paintings belongs to: 

a. Buddhism 

b. Vijaynagar Empire 

c. Pala school 

d. Jainism 

Solution: d 

Explanation: 

They are Jain Texts.  When you will read Western School of Painting, you will find these texts. Click 

on the link given below: 

http://ccrtindia.gov.in/miniaturepainting.php 

Q61. In comparison to India and China, consider the following statements. 

1. India has become the world's most populous country, overtaking China as per the latest UN 

reports. 

2. India’s consumption expenditure is characterized by high spending on food, clothing and 

transport, whereas China’s expenditure is high on housing, white goods and education. 

3. India maintains trade deficit with China, but import from China has reduced consistently in 

last 5 years. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

First and second are correct. 

http://ccrtindia.gov.in/miniaturepainting.php
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India has become the world's most populous country, overtaking China, shows latest data 

released by the United Nations. 
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Third statement is incorrect: 

 

 

Q62. In reference to recent Antarctic Treaty Consultative Meeting (ATCM), consider the following 

statements. 

1. India has been a Consultative Party to the Antarctic Treaty since 1983. 

2. India has the right to propose and vote on decisions and resolutions made during the ATCM 

in matters of administration and logistical cooperation. 

3. India does not (no statute) has a legal framework to regulate India's activities in Antarctica, 

including tourism. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

News: 

 

All three statements taken from PIB: 

India has been a Consultative Party to the Antarctic Treaty since 1983. With the other 28 

Consultative Parties, India has a crucial role in governing Antarctica’s scientific exploration and 

environmental protection.  

It has the right to propose and vote on decisions and resolutions made during the ATCM in matters 

of administration, scientific research, environmental protection, and logistical cooperation. 
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India has a legal framework to regulate India's activities in Antarctica, including tourism, through 

the Indian Antarctic Act enacted in 2022. 

 

Q63. Which of the following country has announced Mobility Arrangement for Talented Early-

professionals Scheme (MATES) for Indian Nationals? 

a. Bangladesh 

b. Unites States 

c. Australia 

d. United Kingdom 

Solution: c 

Explanation: 

News: 

 

On May 23, 2023, Australia and India entered into a Migration and Mobility Partnership 

Arrangement (MMPA). 

The MMPA is a bilateral framework that supports and promotes two-way migration and mobility 

between our two countries while addressing issues pertaining to illegal and irregular migration. 

The Mobility Arrangement for Talented Early-Professionals Scheme, or ‘MATES’, is a new scheme 

established under the MMPA to enable the temporary mobility of Indian university graduates and 

early career professionals. 

 

Q64. Muria tribal farmer recently seen practice ‘deda method’. This method is for: 

a. Harvesting groundwater 

b. Seeds preserving method 

c. Grazing animal and planting on very small area of land. 

d. Salt production using coal and firing technique 

Solution: b 

Explanation: 

News: 
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It is a method of preserving seeds that his ancestors handed over to his family. 

Advantages 

a. The deda method guarantees the protection of seed from pests and worms. 

b. In this method, the stored seeds can be used for cultivation of up to five years. 

c. It helps in preserving the seeds of pulses like the green gram, red gram, black gram and beans. 

Q65. Consider the following countries. 

1. West Bank 

2. Jordan 

3. Gaza Strip 

4. Lebanon 

Which of the above share/s boundary with Mediterranean Sea? 

a. 1 and 2 only 

b. 2, 3 and 4 only 

c. 2 and 3 only 

d. 3 and 4 only 

Solution: d 

Explanation: 
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Q66. The Himalayan Range is very rich in species diversity. Which one among the following is the 

most appropriate reason for this phenomenon? 



QUIZ COMPILATIONS - MAY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 73 

 

1. It has a high rainfall that supports luxuriant vegetative growth. 

2. It is a confluence of different bio geographical zones. 

3. Exotic and invasive species have not been introduced in this region. 

4. It has less human interference. 

Select the correct code. 

a. 1 and 2 only 

b. 1, 2 and 3 only 

c. 2, 3 and 4 only 

d. 1, 2 and 4 only 

Solution: a 

Explanation: 

Fourth Statement is incorrect: You have read many news how encroachments are taking place, how 

diversity is destroyed, so you can easily eliminate fourth option. 

Third statement is incorrect: If you have bit sense, you can eliminate such statements. 

Greater Diversity is due to: 

a. various types of forests found along the Himalayas Ranges [Shivalik, Himachal and Himadri]. 

b. Vertical zonation of vegetation [chief characteristic of Himachal and Himadri]. 

 

Q67. Consider the following statements. 

1. There should not be a gap of more than six months between two sessions of Parliament. 

2. A notice of the motion to remove President shall be accepted by Speaker after it is signed by 

100 members of Lok Sabha. 

Which of the following provisions are mentioned in the Constitution? 

a. 1 only 

b. 2 only 



QUIZ COMPILATIONS - MAY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 74 

 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Article 85 only requires that there should not be a gap of more than six months between two 

sessions of Parliament. This is part of Constitution. 

 

Parliament enacted The Judges (Inquiry) Act, 1968. There it is mentioned that it should be signed by 

100 members of Lok Sabha. Read below. It is not mentioned in the Constitution. 

 

Q68. Consider the following statements regarding Monetary Policy Committee. 
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1. It is a statutory body under RBI Act, 1934. 

2. It determines the inflation target in terms of the Consumer Price Index, once in every five 

years. 

3. The decision of the Committee would be binding on the RBI. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

First statement is correct. 

The Reserve Bank of India Act, 1934 (RBI Act) has been amended by the Finance Act, 2016, to 

provide for a statutory and institutionalized framework for a Monetary Policy Committee, for 

maintaining price stability, while keeping in mind the objective of growth. The Monetary Policy 

Committee would be entrusted with the task of fixing the benchmark policy rate (repo rate) required 

to contain inflation within the specified target level. 

 

Under the Monetary Policy Framework Agreement, the RBI will be responsible for containing 

inflation targets at 4% (with a standard deviation of 2%) in the medium term (For more details see 

here). Under Section 45ZA (1) of the RBI Act, 1934,  

Second statement is incorrect. 

the Central Government determines the inflation target in terms of the Consumer Price Index, 

once in every five years in consultation with the RBI. See below: 

 

Third statement is correct. 
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Q69. Consider the following statements regarding Environment Protection Act, 1986. 

1. The Act empowers the Government of India to lay down procedures and safeguards for the 

handling of hazardous substances. 

2. If an offence is committed under EPA Act as well as under any other Act, the offender will be 

liable to be punished under the other Act, not under EPA. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

Under section 3 of EPA, 1986,  

 

Now, if you relate first statement with UPSC Prelims question: 
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Second statement of UPSC question was directly from the Act. See image given above. 

Second statement is correct:  

This is biggest flaw in EPA, 1986. That’s why we took this statement. 

EPA 1986 is a comparatively weak Act, thanks to its Section 24. This section states specifically that if 

an offence is committed under this Act as well as under any other Act, the offender will be liable to 

be punished under the other Act, not under EPA. 

 

Q70. The Abhinaya Darpana by Nandikesvara is one of the main sources of textual material, for the 

study of the technique and grammar of body movement of which dance form? 

a. Bharatanatyam 

b. Kuchipudi 

c. Sattriya Dance 

d. Kathak  

Solution: a 

Explanation: 
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Q71. With reference to the cantonment board, consider the following statements: 

1. Presently, cantonments are notified as per the Cantonments Act, 2006. 

2. Cantonments are areas which comprise of both military and civil population. 

3. The Board has equal representation of the elected and nominated members. 

4. It is under the administrative control of the Ministry of Home Affairs. 

How many of the above statements is/are correct? 

a. Only two 

b. Only three 

c. All four 

d. None 

Solution: c 

Explanation: 

MINISTRY OF DEFENCE, NOT HOME AFFAIRS. 

Hum bilkul original document pe jayenge, and see all information: 

 

 

Q72. Consider the following pairs (region in news: Location) 

1. New Caledonia: located in France 

2. Province of Baghlan: Iran 

Which of the above pairs is/are correct? 

a. 1 only 
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b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

New Caledonia is a French territory comprising dozens of islands in the South Pacific. 

 

 

Q73. In reference to Prime Minister Wi-Fi Access Network Interface (PM-WANI) Scheme, consider 

the following statements. 

1. It aims to enhance the proliferation of public Wifi hotspots to create robust digital 

communications infrastructure in the country, especially in rural areas. 
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2. The scheme encourages local shops and small establishments to become Wi-Fi providers. 

3. Under this scheme, last-mile Public Wi-Fi providers require no license, no registration and 

will not need to pay any fees. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

Read: 

 

Q74. Consider the following statements. 

1. Age of consent under POCSO Act is 18. 

2. The major aim of POCSO to criminalize consensual relationships among adolescents. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 
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Solution: a 

Explanation: 

You need to develop the art of learning the actual meaning of any Act or scheme. Gradually it will 

come with Goaltide. No need to worry once you are part of Goaltide Platform.  

The POCSO Act (Prevention of Sexual Offences Act), 2012, criminalises all sexual activities for 

those under 18, even if there is consent between the two minors. The minimum age of consent for 

sexual intercourse was raised from 16 to 18 years in November 2012, when the law came into force. 

The law says any sexual activity with or without the woman's consent when she is below 18 

constitutes rape. Anyone below 18 is considered incapable of giving consent. 

POCSO Act was meant to combat sexual exploitation of children and was never meant to 

criminalize consensual relationships among adolescents. It emphasized that sexual autonomy 

encompasses the right to engage in desired sexual activities while also being protected from 

unwanted sexual aggression. 

 

Q75. With reference to the Air (Prevention and Control of Pollution) Act, 1981, consider the 

following statements: 

1. It has a provision for establishing a Central Pollution Control Board. 

2. Any air pollutant released into the atmosphere by a ship or an aircraft is not covered under 

the purview of this Act. 

3. This Act does include noise as an air pollutant. 

Which of the statements given above is/are correct? 

a. 1 and 2 only 

b. 1 and 3 only 

c. 2 and 3 only 

d. 1, 2 and 3 

Solution: c 
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Explanation: 

The Central Pollution Control Board of India is a statutory organization established in 1974 under 

the Water (Prevention and Control of Pollution) Act. Though, the CPCB is also entrusted with the 

powers and functions under the Air (Prevention and Control of Pollution) Act, 1981. However, it is 

established under the Water Act. So, the statement (1) is not correct.  

One of the significant drawbacks of the Act is that any air pollutant released into the atmosphere by 

a ship or aircraft does not come under the purview of the Act. So, the statement (2) is correct.  

The Act was amended in 1987 to include noise as an air pollutant. So, the statement (3) is not 

correct. 

 

Q76. Consider the following Asian Infrastructure Investment Bank (AIIB). 

1. Every country has equal voting share. 

2. AIIB is headquartered in Beijing, China. 

3. AIIB was granted Permanent Observer status in the United Nations. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

First is incorrect. 

The bank was proposed by China in 2013 and the initiative was launched at a ceremony in Beijing 

in October 2014. 

 

 



QUIZ COMPILATIONS - MAY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 83 

 

 

Where is AIIB headquartered? 

AIIB is headquartered in Beijing, China. 

 

Q77. Which of the following are categorized as ‘Nationalized Bank’ as per the RBI? 

1. State Bank of India 

2. Indian Bank 

3. Central Bank of India 

4. Bank of Baroda 

Select the correct code. 

a. 1, 2 and 3 only 

b. 2, 3 and 4 only 

c. 1, 3 and 4 only 

d. 1, 2, 3 and 4 

Solution: b 

Explanation: 

I know everyone will be confused for SBI. There is a small interpretation. You may also get confused 

but try to understand. (If this question appears in exam, there will be different answers in keys.) 

Here is the list of Nationalized banks recognized by RBI. 
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Now why RBI mentions SBI separately in list? 

Nationalization means (forceful) acquisition of a private entity by Government.  

Imperial Bank was created in 1921 by merging three Presidency banks viz. Bank of Bengal, Bank of 

Bombay and Bank of Madras. This Imperial Bank was converted into State Bank of India [Through 

State Bank of India Act 1955] where Govt. of India owned majority of the stake/shares through RBI. 

So, SBI ownership was transferred to RBI and RBI was owned by Govt. of India.  

In 2007-08, the entire shareholding (around 60%) of RBI in SBI was transferred to Govt. of India so as 

to remove any conflict of interest as the RBI is the country's banking regulatory authority. 

So, SBI is a Public Sector Bank, but RBI does not list it under 'Nationalized Banks', rather it writes it 

separately may be because Govt. of India did not directly acquired SBI, rather RBI took control of 

the SBI in1955. Although we generally say that SBI is a nationalized Bank and it is also mentioned on 

SBI website, but RBI declares only those banks as 'Nationalized Banks' which were acquired by 

Govt. through the Bank Nationalization Act. 

Q78. With respect to National Human Rights Commission of India, consider the following 

statements. 

1. As per the Act, the Commission is not authorized to investigate complaints against armed 

forces. 

2. Chairperson of the Commission is the person who has been Chief justice or judge of 

Supreme Court. 

3. The financial expenditure of Commission is approved by the Parliament annually. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 
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d. None 

Solution: b 

Explanation: 

First statement is correct. 

The Commission is not authorized to look into complaint against armed forces. It can only seek 

report from Central Government. 

 

 

Second statement is correct: As per the latest 2019 Amendment: 

 

Third statement is incorrect: It has to depend on Central Government. 

 

 

Q79. In the context of Indian Constitution, consider the following statements. 
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1. The discretion has been given to President to extend the jurisdiction of High Court to Union 

Territories. 

2. Parliament by law can establish a common High Court for two or more states. 

 Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

The discretion has been given to Parliament to extend the jurisdiction to Union Territories. 

 

According to Article 231, Parliament may by law establish a common High Court for two or more 

States or for two or more States and a Union territory. 

 

Q80. With respect to Leprosy, consider the following statements. 

1. Leprosy is a chronic infectious disease caused by a type of bacteria. 

2. Leprosy is non-curable, irreversible. 

3. It spread via droplets from the nose and mouth during close and frequent contact with 

untreated cases. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 
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From WHO site. 

 

 

 

Q81. ‘Greening Education Partnership’ (GEP) is an initiative of: 

a. World Economic Forum 

b. UNESCO Secretariat 

c. UNEP Secretariat 

d. European Union 

Solution: b 

Explanation: 

These topics are very difficult to find. Aasani se ni milte h. Its ok, I am doing for you people. Bus aap 

solve kijye..ho jyga sab.. 

The Greening Education Partnership is a global initiative that takes a whole-of-system approach to 

support countries to tackle climate crisis by harnessing the critical role of education 

News: 
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Q82. In reference to markhor (wild goat species), consider the following statements. 

1. The UN General Assembly celebrated for the first time, International Day of the Markhor in 

2024. 

2. In India, Gujarat is the home to Markhor. 

3. The markhor was categorized as “near threatened” in the International Union for 

Conservation of Nature Red List of Threatened Species. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

Ek baar markhor ko dekh lijye, cute h.  

 

The UN General Assembly proclaimed 24 May the International Day of the Markhor, 

A/RES/78/278, and we celebrate it for the first time in 2024. 
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Like Hangul, Kashmir is the home to Markhor, largest mountain goat in the world. NOT GUJARAT. 

 

Q83. How many of the following is/are chaired by Union Home Minister? 

1. National Disaster Management Authority 

2. Zonal Councils created under State Reorganization Act, 1956. 

3. Inter State Council under Article 263 of Indian Constitution. 

Select the correct code. 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation: 

Only zonal councils are chaired by Hime Ministry. 

Other two are chaired by Prime Minister. 

Q84. Phanigiri — a renowned heritage site was recently in news due to the excavation of lead coins. 

It is a: 

a. Buddhist site 

b. Indus Valley site 

c. Hindu site 

d. Jain site 

Solution: a 

Explanation: 

News: 
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Telangana’s Department of Heritage has recently unearthed a coin hoard at Phanigiri, a renowned 

Buddhist heritage site located 110 km away from the state capital of Hyderabad. 

 

Q85. Global Species Action Plan (GSAP) was recently launched, designed to support implementation 

of the Kunming-Montreal Global Biodiversity Framework (GBF) by: 

a. UNDP Secretariat 

b. IUCN 

c. UNEP Secretariat 

d. UNFCCC Secretariat 

Solution: b 

Explanation: 

News: 

 

In response to the escalating biodiversity crisis, the Global Species Action Plan (GSAP) is designed to 

support implementation of the Kunming-Montreal Global Biodiversity Framework (GBF).  

Developed collaboratively by IUCN, its Commissions, Members, and Partners, the GSAP emphasizes 

strategic interventions to achieve species conservation outcomes for each of the GBF targets. 

 

Q86. With respect to the appointment of Enforcement Directorate (ED), consider the following 

statements. 

1. The Centre appoints the director of ED on recommendation of a committee chaired by 

Union Home Minister. 

2. The committee to appoint ED consists members form Judiciary and Leader of opposition.  
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3. no person below the rank of Additional Secretary to the Government of India shall be 

eligible for appointed as Director of Enforcement. 

Which of the above statements is/are correct? 

a. 1 and 3 only 

b. 2 and 3 only 

c. 3 only 

d. 1 only 

Solution: c 

Explanation: 

The ED director is appointed as per provisions of the Central Vigilance Commission Act, 2003. 

 

Q87. Consider the following statements. 

1. Spiders can build webs in space.  

2. Spider can be both, carnivores, or herbivores. 

3. Spider venoms contains proteins and polypeptides that perform various functions including 

antimicrobial functions. 

How many of the above statement sis/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

First and third are correct. 
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Spider venoms are known to contain proteins and polypeptides that perform various functions 

including antimicrobial, neurotoxic, analgesic, activities. 

Second is incorrect: 

Spiders are carnivores. One two exceptions cannot describe them herbivores.  

 

Q88. As per the rules, who is the leader of Houses in Parliament? 

a. Ministry of Parliamentary Affairs. 

b. Leader of House is decided by Speaker, rules don’t specify any position 

c. Person nominated by prime Minister 

d. Person elected by members in House. 

Solution: c 

Explanation: 

As per the Rules of House, see for both the Houses, 

Lok Sabha: 

 

Rajya Sabha: 

 

Q89. Which of the above Harapan sites located near the coast? 

a. Chanhudaro 

b. Balakot 

c. Banawali 

d. Rakhigarhi 

Solution: b 
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Explanation: 

 

 

Q90. Consider the following statements. 

1. In case of depreciation of the Rupee, the borrower under the ECB benefits the most. 

2. Government borrowings under External Commercial Borrowings has consistently increased 

for last three years. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

Simple question just needs your attention. Don’t be in hurry. 
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An external commercial borrowing (ECB) is an instrument used in India to facilitate Indian companies 

to raise money outside the country in foreign currency. The government of India permits Indian 

corporates to raise money via ECB for expansion of existing capacity as well as for fresh investments. 

It’s a commercial borrowing. Government has nothing to do with Commercial entity. Second 

statement is incorrect. No need to know anything more. 

Under ECB, Indian entities borrow in dollar and pay in dollar. Suppose an entity borrowed 100 

dollars at 1$ = 60. Now, as per the question, rupee depreciates.  

Suppose rupee depreciates to 1$ = 70 Rs. Now, borrower has to give 7000 Rs instead of 6000 (when 

it borrowed at 1$- 60 Rs).  So, borrower doesn’t benefit when rupee depreciates. 

Q91. When for the first time, international community recognized and formally declared Small 

Island Developing States (SIDS) a special case both for environment and development? 

a. World Summit on Sustainable Development 2002 

b. Paris Climate, UNFCCC, COP 21 

c. 1992, at the United Nations Conference on Environment and Development 

d. First Conference of the Parties to the Convention on Biological Diversity, 1994 

Solution: c 

Explanation: 

Recently, Fourth International Conference on Small Island Developing States (SIDS4) took place. The 

deputy UN chief declared that the adopted outcome, known as the Antigua and Barbuda Agenda 

(ABAS), presented a “vision for the future that SIDS want and need”. 

The very first paragraph of the document says: 
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Q92. The purpose of Atal Mission for Rejuvenation and Urban Transformation (AMRUT) scheme is 

to: 

1. Aims to ensure every household has access to tap water and sewage facilities 

2. Increase the value of cities by developing greeneries and well-maintained open spaces such as 

parks 

3. Reduce pollution by switching to public transportation 

Select the correct code. 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: c 

Explanation: 

From the original website of AMRUT: 

 

One more thing you should know: 

AMRUT Mission has been subsumed under AMRUT 2.0, which was launched on 01st October, 

2021and ongoing projects of AMRUT 1.0 will be funded with CA till 31st March, 2023. 

Atal Mission for Rejuvenation and Urban Transformation (AMRUT) 2.0 scheme, which has been 

launched on 01 October, 2021 for the period of 05 years i.e. from the financial year 2021-22 to the 

financial year 2025-26, is designed to provide universal coverage of water supply through functional 

taps to all households in all the statutory towns in the country and coverage of sewerage/septage 

management in 500 cities covered in first phase of the AMRUT scheme. 

Q93. ‘One Person, One File’ Surveillance Escalation Programme, recently suggested by: 

a. European Union 

b. South Korea 

c. China 

d. Unites States 

Solution: c 

Explanation: 

Read: 
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Q94. Consider the following statements regarding District Mineral Foundations in India. 

1. It shall be set up by Central Government in any district affected by mining related operation. 

2. Its major function is to authorize State Governments to issue licenses for mineral 

exploration. 

3. Gram Sabhas has been specified for identification of DMF beneficiaries. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation: 

DMF is a trust set up as a non-profit body under the Ministry of Mines through the Mines and 

Minerals (Development & Regulation) Amendment Act, (MMDRA) 2015. 

Now, coming back to our question: 

First and second statement is incorrect: 

 

Third statement is correct: 

Gram Sabhas has been specified for deciding on projects, monitoring of work and identification of 

DMF beneficiaries. 

Q95. Consider the following statements. 

1. The majority of reef building corals are found within tropical and subtropical waters. 

2. Algal bloom on coral ridges is a sign of good coral health. 

3. Corals can reproduce asexually and sexually. 

4. Pacific Ocean has a greater number of coral species than Antarctic Ocean. 
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Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2, 3 and 4 only 

c. 1, 3 and 4 only 

d. 1, 2, 3 and 4 

Solution: c 

Explanation: 

First statement is correct. 

Reef-building corals are restricted in their geographic distribution by factors such as the temperature 

and the salinity (salt content) of the water. The water must also be clear to permit high light 

penetration. 

Because of these environmental restrictions, reefs generally are confined to tropical and 

semitropical waters. The diversity of reef corals (the number of species), decreases in higher 

latitudes up to about 30° north and south, beyond which reef corals are usually not found.

 

Second statement is incorrect. 

The analysis found that since 2010, the number of algae on the world's coral reefs has increased by 

about 20 per cent. Algal bloom on coral ridges are a sign of stress on the structures. This transition 

from live hard coral to algae-dominated reef communities impacts marine habitats, rendering them 

less biodiverse and also affects the ecosystem services provided by them. 

Third statement is correct. 

Corals can reproduce asexually and sexually. In asexual reproduction, new clonal polyps bud off 

from parent polyps to expand or begin new colonies. This occurs when the parent polyp reaches a 

certain size and divides. This process continues throughout the animal’s life. 

Fourth statement is correct: 

Generally, there are about twice as many coral species in Pacific Ocean reefs as in Atlantic Ocean 

reefs. 
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Q96. Consider the following statements. 

1. The Constitution provides provision for the disqualification of the members of Rajya Sabha. 

2. If a candidate is elected from both of the Houses of Parliament and state legislature and if he 

doesn’t resign from one of the seats within prescribed time, then seat in Parliament will 

become vacant. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

Those who have started preparing now, please follow us regularly. These questions will give you lot 

of understanding and confidence in Polity subject. Ok, coming back to question. 

First Statement is correct. Article 102. 

 

Second statement is also correct. We will see Article 101 along with section 70 of the RPA, 1951. 

 

Q97. Consider the following statements. 

1. As per the Act, Director of Enforcement (ED) is appointed for three years from the date on 

which he assumes office. 

2. Central Government appoints ED on the recommendations of committee headed by Prime 

Minister. 
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Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

See below: 

 

Q98. Consider the following. 

1. Djibouti 

2. Yemen 

3. Qatar 

4. Bahrain 

Arrange the above nations from North to South 

a. 3-4-1-2 

b. 4-3-1-2 

c. 4-3-2-1 

d. 3-4-2-1 

Solution: c 

Bahrain-Qatar-Yemen-Djibouti 
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Q99. Which of the following measures can help in tackling rupee appreciation? 

1. Purchase of Government securities from the public by the Central Bank. 

2. Lowering interest rates in commercial banks. 

3. Buying of foreign currency by the Central Bank. 

4. Sale of government securities to the public by the Central Bank. 

Select the correct answer using the code given below: 

a. 1 and 3 only 

b. 1, 2 and 3 only 

c. 2 and 3 only 

d. 2, 3 and 4 only 

Solution: b 

Explanation: 

Currency appreciation is an increase in the value of one currency in relation to another currency. A 

strong currency makes imports cheaper and can improve living standards. However, it can also make 

exports less competitive and lead to lower economic growth. So, to stabilise the currency, various 

measures are adopted to increase the quantum of domestic currency and reduce the volume of 

foreign currency. Statements (1), (2) and (3) lead to an infusion of domestic currency among the 

public and reduces the foreign currency in the market; thus, it helps in tackling rupee appreciation 

(a feature of managed floating currency). However, the sale of Government securities to the public 

reduces the amount of currency held by the public. So, it cannot tackle rupee appreciation. So, 

statement (4) is incorrect. Hence, option b is the correct answer. 

 

Q100. In most of the accounts, Ashoka has been referred to as ‘Devanampiya Piyadassi’. In which 

place does the name ‘Ashok’ find its mention? 

a. Maski edicts, Karnataka 

b. Ujjain edicts, Madhya Pradesh 
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c. Palkigundu edicts, Andhra Pradesh 

d. Nittur edicts, Karnataka 

Solution: a 

Explanations: 

The name ‘Ashok’ was discovered for the first time on a minor rock edict. In 1915, Maski in 

Karnataka, the name Ashoka was mentioned along with his title – Ashoka Devanampiya Piyadassi. 

(Devanampiya – dear to Gods; Piyadassi – Good looking). 

Otherwise in all other edicts only the title – ‘Devanampiya Piyadassi’ is mentioned. 

 

Q101. Twelve nations have recently signed the ‘Zero Debris Charter’ solidifying their commitment to 

the long-term sustainability of human activities in Earth orbit. 

The ‘Zero Debris Charter’ is an initiative of: 

a. Unites States 

b. European Union 

c. France 

d. Russia 

Solution: b 

Explanation: 

Read: 

 

Q102. Consider the following statements. 

1. China has emerged as India's largest trading partner in 2023-24, surpassing the US. 

2. India maintains trade deficit with top 5 trading partners in 2023-2024. 
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Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

First statement is correct. Second statement is incorrect.  

Check data for the last two financial years: 

 

 

 

Q103. The two countries have filed lawsuits against each other at the ICJ. One country has accused 

another of violating international law by breaching the embassy, while the other accuses the North 

American country of illegally granting asylum. 

The countries mentioned in the above statements are: 

a. France and Germany 

b. Mexico and Ecuador 

c. Canada and Peru 

d. Mexico and Guatemala 

Solution: d 

Explanation: 

News: 
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Q104. With respect to Child Welfare Committee in India, consider the following statements. 

1. A Child Welfare Committee is an autonomous institution in India formed under the 

Protection of Children from Sexual Offences, or POCSO Act. 

2. As per the demand by states, Central Government shall constitute SWC in every district. 

3. The District Magistrate shall conduct a quarterly review of the Committee. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation: 

First and second statements are incorrect. Third is correct: 

A Child Welfare Committee is an autonomous institution in India formed under the Juvenile Justice 

Act, 2015: 
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Q105. In the context of Parole (release of prisoner) in India, consider the following statements. 

1. As per the Act, only Central Government (Home Ministry) can make rules regarding the 

release of prisoners on parole. 

2. When a prisoner is on parole his period of release does not count towards the total period of 

the sentence. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

First statement is incorrect: 

‘Prisons’ is a State subject under the State List of the Seventh Schedule of the Constitution.  

The management and administration of prisons fall exclusively in the domain of state 

governments and are governed by the Prisons Act, 1894, and the Prison Manuals of the respective 

state governments. 

The Prisons Act further says that only states can make rules regarding the release of prisoners on 

furlough, parole and remission, as part of the correctional process in jail reforms. However, the 

Centre too can put out non-binding guidelines. 

Second statement is correct: 

Also, as laid down by the Supreme Court in the State of Haryana vs Mohinder Singh (2000), “when a 

prisoner is on parole his period of release does not count towards the total period of the sentence, 

while when he is on furlough, he is eligible to have the period of release counted towards the total 

period of his sentence undergone by him”. 

Section 432 of Cr.P.C deals with Power to Suspend or Remit Sentences. However, Supreme Court, in 

Sunil Fulchand Shah v. Union of India, reported in AIR 2000 SC 1023, has categorically observed that 

"parole does not amount to suspension of sentence''. 

There is no uniform legislation to deal with furlough or parole. Different states have their own acts 

governing the two forms of release. 

 

Q106. Arrange the following from west to east. 

1. Sea of Azov 

2. Black Sea 

3. Caspian Sea 

Select the correct code. 

a. 1-2-3 

b. 2-1-3 
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c. 1-3-2 

d. 2-3-1 

Solution: b 

Explanation: 

 

 

Q107. Which of the following are tributaries of Godavari River? 

1. Bhima 

2. Malaprabha 

3. Tungabhadra 

4. Musi 

Select the correct code. 

a. 1 only 

b. 4 only 

c. 2 and 3 only 

d. None. 

Solution: d 

Explanation: 

All are tributaries of Krishna River. 
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Q108. Consider the following statements. 

1. The constitution has bestowed power in Supreme Court to see matters related to election of 

Vice President. 

2. The oath/affirmations of Vice President in the Constitution mention to preserve, protect and 

defend the Constitution. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

As per the Article 71, all doubts and disputes arising out of or in connection with the election of a 

president or vice President shall be inquired into and decided by the Supreme court whose decision 

shall be final. 

 

The oath/affirmations of only two bodies, President and Governor, mentions to preserve, protect 

and defend the Constitution, Therefore, statement 2 is wrong. The oath of Governor reads as: 
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Q109. Consider the following statements. 

1. The creation up of a Legislative Council is not exclusively in the hands of the state 

government. 

2. Like Rajya Sabha, Legislative Council cannot be abolished. 

3. Creation of Legislative Council needs an amendment to Constitution under Article 368. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 1 and 3 only 

c. 1 only 

d. None. 

Solution: c 

Explanation: 

First statement is correct: 

The setting up of a second chamber is not exclusively in the hands of the state government.  

 

Second statement is incorrect: You can clear see in above mentioned Article, we can abolish 

Legislative Council. 

Third statement is incorrect: 

 

Q110. The western most Harappan site amongst the following is: 
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a. Chanhudaro 

b. Kalibangan 

c. Mohenjo-Daro 

d. Harappa 

Solution: c 

Explanation: 

 

 

 

 

Q111. Observed under the theme “Fit for the future, building better together,” this year’s 

International Day of UN Peacekeepers (29 May) highlights the invaluable contributions military, 

police and civilian peacekeepers have made over the last seven decades. On this day, we will solve 

one question. 

Consider the following statements. 

1. It is for the Security Council to determine when and where a UN peace operation should be 

deployed. 
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2. The Security Council can vote to extend, amend or end mission mandates as it deems 

appropriate. 

3. The first UN peacekeeping mission was established in 1948 to monitor the Agreement 

between Israel and its Arab neighbors. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: C 

EXPLANATION: 

All statements are correct. 

 

The Security Council establishes a peace operation by adopting a Security Council resolution. The 

resolution sets out that mission’s mandate and size. 

The Security Council can vote to extend, amend or end mission mandates as it deems appropriate. 

The first UN peacekeeping mission was established in May 1948, when the UN Security Council 

authorized the deployment of a small number of UN military observers to the Middle East to form 

the United Nations Truce Supervision Organization (UNTSO) to monitor the Agreement between 

Israel and its Arab neighbors. 

 

Q112. With reference to Lithium, consider the following statements: 

 

1. India and Argentina have signed for the first ever lithium exploration and mining project. 

2. Lithium reserves were recently found in Jammu and Kashmir and Rajasthan. 

3. The lithium Triangle comprises Argentina along with Brazil and Ecuador. 

How many of the statements given above are correct? 
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a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

India and Argentina have inked the first lithium exploration and mining deal by a government 

company in India. Hence, statement 1 is correct. 

 

Second statement is also correct. 

 

Argentina, Chile, and Bolivia form the “Lithium Triangle” and account for more than half of the 

world’s total lithium resources. Hence, statement 1 is not correct.  
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Q113. Which of the following correctly defines NASA’S PREFIRE Mission? 

a. First mission to gather seismic data from moon 

b. aimed at enhancing our understanding of the Earth’s polar regions, specifically the Arctic 

and Antarctic. 

c. detecting water and ice on the MARS planet, as well as studying its composition. 

d. This mission will be placed at Lagrange point L2 to study thousands of exoplanets, ranging 

from rocky planets to gas giants in visible and infrared wavelengths. 

Solution: b 
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Explanation: 

PREFIRE: Polar Radiant Energy in the Far-InfraRed Experiment 

 

 

Q114. With reference to the Phage therapy, consider the following statements: 

1. It uses bacterial viruses to treat bacterial infections. 

2. It treats people suffering from chronic or antibiotic-resistant infections. 

3. Phages are living biological entities that do not consist of DNA or RNA. 

How many of the statements given above are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

Read: 
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Phage therapy is a treatment for people suffering from chronic or antibiotic-resistant infections. 

Hence, statement 2 is correct. 

Phage treatment is the method of treating bacterial illnesses with bacterial viruses (phages). Hence, 

statement 1 is correct. 

Phage treatment is increasingly being studied as an alternative to antibiotics. 

Phages are non-living biological organisms made up of DNA or RNA contained in a protein capsid. 

Hence, statement 3 is not correct. 

Q115. Consider the following statements regarding National Green Tribunal. 

1. NGT was established during priministership of Rajiv Gandhi. 

2. The Chairperson has to a Judge of the Supreme Court of India or Chief Justice of a High 

Court. 

3. The Tribunal shall not be bound by the procedure laid down by the Code of Civil Procedure, 

1908 but shall be guided by the principles of natural justice. 

4. Any person aggrieved by order of the Tribunal can file an appeal to the Supreme Court. 

How many of the above statements is/are correct? 
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a. Only one 

b. Only two 

c. All three 

d. All four 

Solution: c 

Explanation: 

Read this before proceeding to explanation: Purpose of setting up of NGT. 

 

First statement is wrong, as you can see it was established in 2010.  

Second statement is correct: 

 

Third statement is correct. 
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Fourth statement is correct: 

 

Q116. As per the provisions mentioned in the Constitution, consider the following statements. 

1. An election to fill a vacancy caused by the expiration of the term of office of President shall 

be completed before the expiration of the term. 

2. The person elected to fill the vacancy of the President shall be entitled to hold office for the 

full term of five years from the date on which he enters upon his office. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

 

Q117. Consider the following Nations. 

1. Turkmenistan 

2. Syria 

3. Pakistan 

4. Afghanistan 

Which of the above nations share boundaries with Iran? 

a. 2 and 3 only 

b. 1, 2 and 4 only 

c. 1, 3 and 4 only 

d. 4 only 

Solution: c 

Explanation: 
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There are seven countries that Iran shares this long land border with. These countries are Iraq, 

Turkmenistan, Afghanistan, Pakistan, Turkey, Armenia, and Azerbaijan. Of these countries, 

Turkmenistan shares the longest border with Iran. 

 

Q118. Consider the following statements. 

1. The Supreme Court should mandatorily report to President if President has asked for an 

opinion related to public importance. 

2. The Constitution has given power to Parliament to increase the number of judges of High 

Court. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation:  

It is not mandatory for Supreme Court to respond for such opinion. See article 143 below. The 

Constitution has given power to President to increase the number of judges of High Court. Refer 

article 216 below. 
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Q119. Consider the following statements regarding Treasury Bills. 

1. They are the short- term debt instruments issued by the Government of India. 

2. Interest rate is decided by the government only. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Treasury bills or T-bills, which are money market instruments, are short term debt instruments 

issued by the Government of India and are presently issued in three tenors, namely, 91-day, 182 

day and 364 days.  

Treasury bills are zero coupon securities and pay no interest. Instead, they are issued at a discount 

and redeemed at the face value at maturity. For example, a 91-day Treasury bill of ₹100/- (face 

value) may be issued at say ₹ 98.20, that is, at a discount of say, ₹1.80 and would be redeemed at 

the face value of ₹100/-. Interest rates are not used here. Therefore, second statement is wrong. 

Q120. In the context of the cultural history of India, a mudra called “Katakamukha Hasta” has been a 

favourite of most of the classical dances. Which one of the following statements best describes it? 

a. The fingers are held in such a manner as if to ask ‘why’ 

b. Three fingers are joined to symbolize ‘Om’ 

c. The fingers are held straight and close together like the ‘stop sign’ 

d. All the fingers are held straight and together except the thumb finger 

Solution: b 

Explanation: 
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Katakaamukha means “Opening in a Bracelet”. Its done by bringing together the index finger, middle 

finger and thumb. The ring finger and the little finger are raised at angles. Katakaamukha is generally 

used to express the following 

a. Plucking or picking flowers 

b. Holding a necklace or a garland 

c. Pulling the bow string 

d. Talking and Seeing 

e. To show preparing a paste of sandal or musk 

f. Offering Beetle leaves 

Here, it best describes Three fingers are joined to symbolize ‘Om’. So, option (b) is correct. 

 

 

Q121. With reference to the India-Australia trade, consider the following statements: 

1. India maintains trade surplus with Australia in last 5 years. 

2. India and Australia are part of QUAD and the Indo-Pacific Economic Forum (IPEF). 

3. After signing Australia-India Economic Cooperation and Trade Agreement (AI-ECTA) in 2022, 

India export to Australia has increased and import from Australia has declined. 

How many of the statements given above are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

First is incorrect. 
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See image from Ministry of Commerce: 

 

Australia is an important strategic partner of India. They are also part of the four nation QUAD, 

Trilateral Supply Chain Initiative and the Indo-Pacific Economic Forum (IPEF). 

The Australia-India Economic Cooperation and Trade Agreement (AI-ECTA) entered into force on 

December 29, 2022. 

Notably, in the first six months of the AI-ECTA coming into force, the trade gap between Australia 

and India has shrunk by 15 percent. This has come on the back of increased Indian exports of 

pharmaceutical goods, electrical machinery, and iron and steel products. While Australian exports 

to Indian have declined by 25 percent from last year. (You can also see in the above mentioned 

data). 

Q122. Recently KAZA countries decided to pull out of the Convention on International Trade in 

Endangered Species of Wild Fauna and Flora (or CITES) which has repeatedly denied them 

permission to sell off their abundant ivory and other wildlife products. 

These KAZA countries are: 

a. Gabon, Nigeria, Ethiopia, Egypt, and Gambia 

b. Angola, Botswana, Namibia, Zambia, and Zimbabwe 

c. Liberia, Ghana, Malawi, South Africa, Zambia 

d. Congo, Tanzania, Kenya, South Africa, and Botswana 

Solution: b 

Explanation: 

News: 



QUIZ COMPILATIONS - MAY PART 2 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 121 

 

 

The Kavango-Zambezi Trans-Frontier Conservation Area (KAZA-TFCA) is a 520,000-square kilometre 

wildlife sanctuary straddling five southern African nations that share common borders along the 

Okavango and Zambezi River basins. 

These nations — Angola, Botswana, Namibia, Zambia, and Zimbabwe 

 

 

Q123. Consider the following statements. 

1. In 2024, UN celebrated first International Day of Potato by focusing on the contribution of 

the potato to the lives of producers and consumers. 

2. India is second largest producer of potato after China. 

3. There is no MSP for onion, potato, and tomato in India. 

How many of the statements given above are correct? 

a. Only one 

b. Only two 

c. All three 
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d. None 

Solution: c 

Explanation: 

From the UN website: 

 

There is no MSP for onion, potato and tomato. 

 

Q124. The Reserve Bank of India (RBI) has launched the PRAVAAH portal for: 

a. Digital infrastructure innovation 

b. Individuals and entities to apply online for various regulatory approvals from the RBI 
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c. Hassle free and seamless banking transactions 

d. Any individual or entity to participate in the government securities (G-Secs) market. 

Solution: b 

Explanation: 

News: 

 

The central bank launched the PRAVAAH portal for any individual or entity to apply online for 

various regulatory approvals in a seamless manner. 

This portal will also enhance the efficiency of various processes related to granting regulatory 

approvals and clearances by the Reserve Bank, the central bank said in a statement. 

‘PRAVAAH’ (Platform for Regulatory Application, VAlidation and AutHorisation) portal is a secure and 

centralised web-based portal for any individual or entity to seek authorisation, license or regulatory 

approval on any reference made by it to the Reserve Bank. 

Q125. Which of the following countries is/are part of Amazon basin? 

1. Bolivia 

2. Chile 

3. Ecuador 

4. Peru 

How many of the above location falls under correct option? 

a. Only 1 

b. Only 2 

c. Only 3 

d. All four 

Solution: c 

Explanation: 

See two beautiful images below. 
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Q126. In reference to bye-elections in India, consider the following statements. 

1. As per the Constitution, Election Commission is mandated to fill the vacancies in the Houses 

of Parliament through bye elections within six months from the date of occurrence of the 

vacancy. 

2. A by-poll need not be held, if the remainder of the term of a member in relation to a vacancy 

is less than one year. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

First is incorrect: Constitution doesn’t mention that. 

Section 151A of the Representation of the People Act, 1951 mandates the Election Commission to 

fill the casual vacancies in the Houses of Parliament and State Legislatures through bye elections 

within six months from the date of occurrence of the vacancy, provided that the remainder of the 
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term of a member in relation to a vacancy is one year or more. 

 

Q127. What are the ‘major’ objectives of National Food Security Act, 2013? 

1. To provide adequate quantity of food to people to lead life with dignity 

2. To provide free quality food to people. 

3. To provide subsidies to farmers growing crops. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation: 

Just see the objective of Act, sab samjh aa jyga.  

 

At affordable prices, NOT FREE. No mention of any subsidies to farmers. So, second and third are 

incorrect. 

 

Q128. Consider the following. 

1. North Sea 
2. Baltic Sea 
3. Atlantic Ocean 
4. Black Sea 

Arrange the above seas from West to East. 

a. 3-2-1-4 
b. 3-1-2-4 
c. 3-1-4-2 
d. 1-3-2-4 

Solution: b 
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Explanation: 

 

Q129. In the context of temple architectures, Keralantakam, Rasarasan and Tiruanukkam 

represents: 

a. Separate kitchen areas for different group of people inside Virupaksha Temple 

b. different religious places in the temple to perform different religious activities during Guptas 

c. Places dedicated for waste management of Temple during the reign of Vijayanagar 

d. Three Main entrances to the shrine in Brihadisvara Temple 

Solution: d 

Explanation: 

Brihadishvara Temple: some important features of temple. 
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Q130. Consider the following statements. 

1. Constitution prescribed that the Supreme Court shall comprise of a Chief Justice of India and 

not more than seven other judges. 

2. The maximum number of judges could be increased by Parliament by law. 

3. A person is eligible to be appointed as Judge of the Supreme Court if in the opinion of the 

President, a distinguished jurist. 

How many of the above statements is/are correct? 

a. Only one 

b. Only two 

c. All three  

d. None 

Solution: c 
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Explanation: 

First statement is correct. 

Article 124(1) of the Constitution prescribed that the Supreme Court shall comprise of a Chief 

Justice of India and not more than seven other judges.  

Second statement is correct. 

The maximum number of judges could be increased by Parliament by law. Accordingly, the 

Supreme Court (Number of Judges) Act, 1956 provided for a maximum of eleven judges. Thereafter 

this number was increased to 13 in 1960; to 17 in 1977; to 25 in 1986, and to 30 in 2009.  With the 

appointment of recent nine judges, we will have 33 judges including the CJI. 

 

Third statement is correct: 

 

Till date, no 'distinguished jurist' (category (c)) has been appointed as judge of Supreme Court. 

 

 

 

 

 

 

 

 

 

 

 


